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Comprehension:

Study the table given below and answer the questions :

The table gives the breakup of expenses (in percentage) incurred on various Heads in organizing a
cultural event in a college.

Sound
Head Tent Item | - | Invitation Lighting| Food | Poster Making
System
Expenses (%)| 20% 15% 10% 20% | 25% 10%

SubQuestion No : 1

Q1 What is the difference between the expenses on Food and Poster Making, if we assume that the

total expenses of the event were T 67880 ?

(1) T 16970

(2) T 6788

(3) T 23758
)

(4 T 10182
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255896988
Option 1 ID : 42558927172
Option 2 ID : 42558927173
Option 3 ID : 42558927174
Option 4 ID : 42558927175

Status : Answered
Chosen Option: 4
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Comprehension:
Study the table given below and answer the questions :
The table gives the breakup of expenses (in percentage) incurred on various Heads in organizing a
cultural event in a college.
Sound S a5 — 2
Head Tent Item Invitation |Lighting| Food | Poster Making
System
Expenses (%) 20% 15% 10% 20% | 25% 10%
SubQuestion No : 2
Q2 If the combined amount paid for the Tent ltems and Lighting was ¥ 24690, then how much
combined amount was paid for Food and the Sound System ?
(1) T12345
(2) ¥ 24690
(3) ¥ 37035
(4) T 49380
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255896987
Option 11D : 42558927168
Option 2 ID : 42558927169
Option 3 ID : 42558927170
Option 4 ID : 42558927171
Status : Answered
Chosen Option : 2
Comprehension:
Study the table given below and answer the questions :
The table gives the breakup of expenses (in percentage) incurred on various Heads in organizing a
cultural event in a college.
Sound L o S :
Head Tent Item Invitation |Lighting| Food| Poster Making
System
Expenses (%) 20% 15% 10% 20% | 25% 10%
SubQuestion No : 3
Q3 i the college has paid ¥ 41200 for Tent Items, then how much amount has been paid for Food ?
(1) T 32960
(2) 51500
(3) T 41200
(4) ¥ 10300
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255896984
Option 1 ID : 42558927156
Option 2 ID : 42558927157
Option 3 ID : 42558927158
Option 4 ID : 42558927159
Status : Answered
Chosen Option : 2
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Comprehension:
Study the table given below and answer the questions :
The table gives the breakup of expenses (in percentage) incurred on various Heads in organizing a
cultural event in a college.
Sound S o — ;
Head Tent Item Invitation |Lighting| Food | Poster Making
System
Expenses (%)| 20% 15% 10% 20% | 25% 10%
SubQuestion No : 4
Q4 i the total expenditure was ¥ 43000 (Forty three thousand rupees), then what is the difference of
amounts between the highest paid Head and two lowest paid Heads taken together ?
(1) 2150
(2) T 6450
(3) ¥ 4300
(4) ¥ 8600
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255896986
Option 11D : 42558927164
Option 2 ID : 42558927165
Option 3 ID : 42558927166
Option 4 ID : 42558927167
Status : Answered
Chosen Option : 2
Comprehension:
Study the table given below and answer the questions :
The table gives the breakup of expenses (in percentage) incurred on various Heads in organizing a
cultural event in a college.
Sound s S :
Head Tent Item Invitation |Lighting| Food| Poster Making
System
Expenses (%) 20% 15% 10% 20% | 25% 10%
SubQuestion No : 5
Q5 [f the amount paid for Lighting was ¥ 24690, then how much total amount was paid for Tent
Items and Poster Making ?
(1) T 24690
(2) ¥ 12345
(3) ¥ 37035
(4) ¥ 49380
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255896985
Option 11D : 42558927160
Option 2 ID : 42558927161
Option 3 1D : 42558927162
Option 4 ID : 42558927163
Status : Answered
Chosen Option: 3
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a6 Identify non-probability sampling methods.
A.  Systematic sampling
B. Purposive sampling
C.  Quota sampling
D.  Stratified random sampling
E. Snow-ball sampling

Choose the most appropriate answer from the options given below :
(1) B,CandE Only

(2) A, BandE Only

(3) A, Band COnly

(4) A, B, CandE Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255896992
Option 11D : 42558927188
Option 2 ID : 42558927189
Option 31D : 42558927190
Option 4 ID : 42558927191
Status : Answered
Chosen Option : 4
Q.7

Which of the following is an analogous statement ?
(1) Godis great

(2) Man is like god

(3) Gandhiji is the father of the nation

(4) Man is mortal

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897009
Option 1 ID : 42558927256
Option 2 ID : 42558927257
Option 3 ID : 42558927258
Option 4 ID : 42558927259

Status : Answered

Chosen Option : 2
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Q8 Match List - T with List - IL:

List - I List - II

(Problem) (Type of research)
A.  Development of theory of relativity L Action research
B.  Comparison of the effect of two II. Qualitative research

teaching methods on the achievement
of the students in a science subject

C.  Study of the reasons of lack of III. Fundamental (basic) research
commitment of the employees of
an organization towards their duties

D.  Study of educational thoughts emerging IV. Applied research
from the speech of a social reformer

Choose the correct answer from the options given below :
(1) A-II, B-1V, C-I, D-IL
(2) A-1v, B-I, C-1I, D-IL
(3) A-L B-1V, CI, D-III
(4) A-II, B-IL, C-1V, D-L

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255896993
Option 1 ID : 42558927192
Option 2 ID : 42558927193
Option 3 ID : 42558927194
Option 4 ID : 42558927195
Status : Answered
Chosen Option : 2
Q.9

Among these, which is the outermost layer of atmosphere ?
(1) Stratosphere

(2) Mesosphere

(3) Troposphere

(4) Thermosphere

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897025
Option 11D : 42558927320
Option 2 ID : 42558927321
Option 3 ID : 42558927322
Option 4 ID : 42558927323

Status : Answered

Chosen Option: 3
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Q.10 i : 5
Match List - I with List - 1I :
List - I List - 11
A. Duration of 1 minute and 12 I 19
" 1
seconds is what percent of E hour ?
B.  30% of apples out of 30 are bad. . 4
The number of good apples is
C. The populalion of a country increases Im. 21
from 25 million to 30 million.
The percentage increase is
D. 1.14 expressed as percent of 6.0 is V. 20
Choose the correct answer from the options given below :
(1) A-IL B-IL C-I, D-IV
(2) A-IL B-lIL C-1V, D-1
(3) A-I, B-II, C-I, D-IV
(4) A-1V, B-II, C-II, D-1
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897008
Option 11D : 42558927252
Option 2 ID : 42558927253
Option 3 ID : 42558927254
Option 4 ID : 42558927255
Status : Answered
Chosen Option : 2
@M What is Eutrophication ?
(1) Low pH of water due to toxic material
(2) Enhanced plant growth and subsequent oxygen depletion of water
(3) Temperature above the normal range due to organic matter pollution
(4) Increase in toxicity of water due to chemicals
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897024
Option 1 ID : 42558927316
Option 2 ID : 42558927317
Option 31D : 42558927318
Option 4 ID : 42558927319
Status : Answered
Chosen Option : 2
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Q.12

Effective communication can be achieved by adopting the following strategies.
Improving the clarity of message to communicate

Selection of appropriate channel (technology) to communicate

Using proper environment to facilitate communication

Creating anxiety and fear to facilitate communication

Mo ONwp

Providing overloaded information to communicate
Choose the correct answer from the options given below :
(1) A C DOnly

(2) A, B, COnly

(3) B, C, DOnly

(4) C, D, E Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897002
Option 1 ID : 42558927228
Option 2 ID : 42558927229
Option 3 ID : 42558927230
Option 4 ID : 42558927231
Status : Answered
Chosen Option : 2
Q.13

Which one among the following is not a barrier to communication ?
(I) Organizational

(2) Personal

(3) Cultural

(4) Linguistic

Options 1. 1

2.2

3.3
4.4

Question Type : MCQ
Question ID : 4255896999
Option 1 ID : 42558927216
Option 2 ID : 42558927217
Option 3 ID : 42558927218
Option 4 ID : 42558927219

Status : Answered

Chosen Option: 1
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Q.14 Arrange the following according to evolution of music players in chronological order, from past to

present.
A.  Audio Cassette
B. €D
C. Radio
D. Gramophone
E. DVD
Choose the correct answer from the options given below :
1 CABED
2 DCABE
3) ABEDC
4 DEBCA
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897001
Option 11D : 42558927224
Option 2 ID : 42558927225
Option 3 ID : 42558927226
Option 4 ID : 42558927227
Status : Answered
Chosen Option : 2
Q15 e teaching which involves the teacher posing questions to students as they attempt a task, is
known as :
(1) Co-operative Teaching
(2) Peer tutoring
(3) Scaffolding
(4) Directed teaching
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897014
Option 11D : 42558927276
Option 2 ID : 42558927277
Option 3 ID : 42558927278
Option 4 ID : 42558927279
Status : Answered
Chosen Option : 1



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247

.16
1% Choose the “"WRONG’ statement

A. JPEG’ stands for Joint Photographic Exchange General

GET IT ON
Google Play

B. ‘FTP’ stands for File Transfer Protocol
C. ‘GUI stands for General User Interface
D. ‘FAT stands for File Allocation Table

Choose the correct answer from the options given below :
(I) A and B Only
(2) A andC Only
(3) Band COnly
(4) Cand D Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897021
Option 1 ID : 42558927304
Option 2 ID : 42558927305
Option 3 ID : 42558927306
Option 4 ID : 42558927307
Status : Answered
Chosen Option : 2
Q.17 . " .
Match List - I with List - II :
List - 1 List - II
A. Film fare L Newspaper
B. Dainik jagran I1. Book
C. The God of Small Things III.  Magazine
D. Chacha Chaudhury IV. Comics

Choose the correct answer from the options given below :
(1) A-L, B-lI, C-II, D-IV
(2) A-I, B-I, C-I, D-IV
(3) A-lI, B-1I, C-1V, D-1
(4) A-1V, B-I, CI, D-1II

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897003
Option 1 ID : 42558927232
Option 2 ID : 42558927233
Option 3 ID : 42558927234
Option 4 ID : 42558927235

Status : Answered

Chosen Option : 2
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Q18 T, identical containers P and Q contain mixture of milk and water in the ratio 1:1and 3 : 1,
respectively. In what ratio should mixtures be taken out from P and Q so that milk to water ratio
becomes 5 : 4 7
m 5:2
@ 7:2
(3 2:7
(4 2:5
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897005
Option 1 ID : 42558927240
Option 2 ID : 42558927241
Option 3 ID : 42558927242
Option 4 ID : 42558927243
Status : Answered
Chosen Option : 1
Q.19
VPN stands for :
(I) Vast Public Networks
(2) Virtual Public Networks
(3) Vast Private Networks
(4) Virtual Private Networks
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897020
Option 11D : 42558927300
Option 2 ID : 42558927301
Option 3 ID : 42558927302
Option 4 ID : 42558927303
Status : Answered
Chosen Option : 4
Q.20 which of the following articles of Indian constitution is related to ‘Right of minorities to establish
and administer educational institution ?
(1) Art 28
(2) Art 29
(3) Art 30
(4) Art.31 A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255896994
Option 1 ID : 42558927196
Option 2 ID : 42558927197
Option 3 ID : 42558927198
Option 4 ID : 42558927199
Status : Answered
Chosen Option : 1
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Q.21 There are four arguments A, B, C and D in the context of the statement given below. You have to
decide which of the argument(s) is/are strong ?

Statement : Should India go in for e-governance in all possible sectors ?

A.  Yes, It will bring accuracy and efficiency in the work.
B. No, e-governance requires a lot of money. We should not waste money on it

C.  Yes, when developing countries are introducing computers in every field, how can India
afford to lag behind.

D. No, it will be an injustice to the monumental human resources which are at present utilized.
Choose the most appropriate answer from the options given below :

(I) A Only

(2) Aand BOnly

(3) A andC Only

(4) D Only

Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 4255897012
Option 11D : 42558927268
Option 2 ID : 42558927269
Option 3 ID : 42558927270
Option 4 ID : 42558927271

Status : Answered

Chosen Option: 3

¥ Match List - I with List - 11 :
List - I List - 11
A. Salim Ali L Agriculture scientist
B. Charles Darwin II.  Ornithology
C. M.S. Swaminathan III.  Chipko movement
D. Sunderlal Bahuguna IV. Origin of species
Choose the correct answer from the options given below :
(1) A-IL, B-1V, C-I, D-1IL
(2) A-IL B-I, C-lI, D-IV
(3) A-IL B-IIL C-IV, D-L
(4) A-1V, B-II, C-1, D-1II
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897028
Option 11D : 42558927332
Option 2 ID : 42558927333
Option 3 ID : 42558927334
Option 4 ID : 42558927335

Status : Answered

Chosen Option : 1
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Q.23 ; A i . i
In constructing a categorical syllogism arrange the fo]lowmg in order.
AL Icleniify the minor premise
B.  Identify the major premise
C. Determine the conclusion
D. Check mood and figure
Choose the correct answer from the options given below :
() ABDC
Z B.ADGE
(3) D ABC
(4] AC DB
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897011
Option 1 ID : 42558927264
Option 2 ID : 42558927265
Option 3 ID : 42558927266
Option 4 ID : 42558927267
Status : Answered
Chosen Option : 3
Q.24 Identify the correct statements.
A.  The angle between the hour hand and the minute hand at 2:40 PM is 130°
B. If 3 = 1331, then x = 11
C.  The area of a 1.0 m wide track around a rectangular sports field of dimensions 20 m x 18 m
is 80 m?
i 3
D |3 of 1000 | js equal to 5
Choose the correct answer from the options given below :
(1) A, Band C Only
(2) A BC andD
(3) B, Cand D Only
(4) A, CandD Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897007
Option 1 ID : 42558927248
Option 2 ID : 42558927249
Option 31D : 42558927250
Option 4 ID : 42558927251
Status : Answered
Chosen Option : 3
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Q.25 : o y ) '
Which one of the following is not a social networking site ?
(I) YouTube
(2) Facebook
(3) Twitter
(4) Khan academy
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897000
Option 1 1D : 42558927220
Option 2 ID : 42558927221
Option 3 ID : 42558927222
Option 4 ID : 42558927223
Status : Answered
Chosen Option : 4
Q.26 ; : . ’ ;
Which of the following is converse of ‘Some R are F* ?
(I) Some F are notR
(2) Some R are not F
(3) No Fis R
(4) Some F are R
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897010
Option 11D : 42558927260
Option 2 ID : 42558927261
Option 3 ID : 42558927262
Option 4 ID : 42558927263
Status : Answered
Chosen Option : 2
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Q.27
Choose the "WRONG' statement.
A.  'Bit’ is a unit of storage
B. ‘Micron’ is a unit of weight
C. ‘F-13' is a functional key on computer keyboard
D. Pixel is related to resolution of camera
Choose the correct answer from the options given below :
(I) A and B Only
(2) Band COnly
(3) Cand D Only
(4) Band D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897022
Option 11D : 42558927308
Option 2 ID : 42558927309
Option 3 ID : 42558927310
Option 4 ID : 42558927311
Status : Answered
Chosen Option : 2
Q.28
Match List - I with List - 11 ;
List -1 List - I
A.  An example of multisensory L MOQOC
approach of learning
B. Four quadrants of learning I1. "PSPE
C. Academic Bank of Credit III. You Tube
D. An example of software IV. NEP-2020
package on statistical analysis
Choose the correct answer from the Dpl'j.DIlS given below :
(1) A-II, B-1V, C-II, D-I
(2) A-IL B, C-1IV, D-III
(3) A-II, B-1, C1V, D-II
(4) A-IV, B-L, CI, D-III
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897018
Option 11D : 42558927292
Option 2 ID : 42558927293
Option 3 ID : 42558927294
Option 4 ID : 42558927295
Status : Answered
Chosen Option: 3
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Q.29 . 5 .
Identify the sources of hypothesis formulation.
A.  Sampling method used for research
B. Reports of earlier research
C.  Beliefs prevailing in the area of selected problem
D.  Prior-experience of researcher in the area of selected problem
E.  Type of population
Choose the most appropriate answer from the options given below :
(1) B,Cand D Only
(2) B, CandE Only
(3) A, Cand E Only
(4) C, DandE Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255896991
Option 11D : 42558927184
Option 2 ID : 42558927185
Option 3 ID : 42558927186
Option 4 ID : 42558927187
Status : Answered
Chosen Option : 1
Q.30 In which of the following acts, researcher does not maintain research ethics ?
(1) Converts interval scale data into ordinal scale data to apply non-parametric test
(2) Does not disseminate the findings of research
(3) Shares confidential information of the subjects with others
(4) Collects data from secondary sources
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255896989
Option 11D : 42558927176
Option 2 ID : 42558927177
Option 3 ID : 42558927178
Option 4 ID : 42558927179
Status : Answered
Chosen Option : 2
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Q31 Match List - T with List - IL:
List - I List - II
A.  Reasoning based upon resemblance 1, Sesavat
to what has been observed in the past
B. Reasoning by the method of elimination IIL. Puravat
C.  Reasoning with the support of what is III.  Pratijna
found in the sphere of sensuous objects
D. Reasoning by keeping discussion within IV. Samanyatodrsta
limits and by drawing attention to the
point under discussion
Choose the correct answer from the options given below :
(1) A-L B-1V, C-I, D-III
(2) A-IL B-III C-1V, D-I
(3) A-IL B, C-IV, D-1II
(4) A-IO, B-IV, C-II, D-I
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897013
Option 11D : 42558927272
Option 2 ID : 42558927273
Option 3 ID : 42558927274
Option 4 ID : 42558927275
Status : Answered
Chosen Option : 2
.32
@32 Match Tist - T with List- 11 ;
List -1 List - II
(Item) (Category)
A.  Yahoo L. Web-browser
B. Firefox II. Al based paraphrasing tool
C. Solitaire III.  Search engine
D.  Quillbot IV. Game
Choose the correct answer from the options given below :
(1)  A-IL B-lII, C-1V, D-I
(2) A-ll, B-1, C-1V, D-1I
(3) A-I, B-1V, C-], D-II
(4) A-IV, B, C-1I, D-I
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897023
Option 1 ID : 42558927312
Option 2 1D : 42558927313
Option 3 ID : 42558927314
Option 4 ID : 42558927315
Status : Answered
Chosen Option : 2
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Q33 Arrange the following fractions in decreasing order of their values.

, 13
(1) 18
3 9
L u
(" ) -1 3
4 e

@ -

Choose the correct answer from the options given below :
() C>D>B>A
(22 D>C>A>B
(3 D>A>B>C
4 D>C>B>A

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897006
Option 11D : 42558927244
Option 2 ID : 42558927245
Option 3 ID : 42558927246
Option 4 ID : 42558927247
Status : Answered
Chosen Option : 4
Q.34 Descriptions of some measurements are given below. Select correct order to arrange them from
lower level of scales of measurement involved in them to higher level.
A.  Height of the students are measured in centimeter.
B.  Marks are given to the students after assessing their answer books of English language.
C. Students are informed about their relative positions based on their performance in singing
competition.
D.  Number of students of different subjects are counted in a particular college.
Choose the correct answer from the options given below :
1y ABC D
2 DCBA
3 CBAD
4 ADCB
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255896990
Option 11D : 42558927180
Option 2 ID : 42558927181
Option 3 ID : 42558927182
Option 4 ID : 42558927183
Status : Answered
Chosen Option : 1
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Q35 Match List - I with List - 11 :
List - I List - II
(Language) (Year of inclusion in eighth schedule)
A. Bodo L 1950
B.  Punjabi I. 1967
C. Sindhi III. 1992
D. Nepali IvV. 2003
Choose the correct answer from the options given below :
(1) A-I, B-II, C-1IV, D-I
(2) A-IL, B C-1V, DI
(3) A-1V, B-I, C-I, D-1II
(4) A-1V, B-III, C-I, D-IT
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255896998
Option 1 ID : 42558927212
Option 2 1D : 42558927213
Option 3 ID : 42558927214
Option 4 ID : 42558927215
Status : Answered
Chosen Option : 2
Q.36 ; : : ;
Determine the next term (?) in the following letter series.
BYD, EV], HSF, KFYV, 7, ...
(1) NMB
(2) NMX
(3) MNB
(4) MBN
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897004
Option 1 ID : 42558927236
Option 2 ID : 42558927237
Option 3 ID : 42558927238
Option 4 ID : 42558927239
Status : Answered
Chosen Option : 1
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Q.37 It is said that Takshashila University was named after Taksha, son of

(I) Buddagupta raja

(2) Kanda, the younger son of Gandharvas

(3) Tathagata gupta raja

(4) Bharata, the younger brother of Rama of Ramayana

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255896995
Option 11D : 42558927200
Option 2 ID : 42558927201
Option 3 ID : 42558927202
Option 4 ID : 42558927203
Status : Answered
Chosen Option: 3
Q38 Arrange the following institutions chronologically as per their year of establishment.
A.  Banaras Hindu University
B.  Jawahar lal Nehru University
C. Indian Institute of Science (IISc) Bangalore
D.  University of Delhi
Choose the correct answer from the options given below :
(1 B CDA
(2} C A DB
3) CBAD
4 D ABC
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255896996
Option 1 ID : 42558927204
Option 2 ID : 42558927205
Option 3 ID : 42558927206
Option 4 ID : 42558927207
Status : Answered
Chosen Option : 2
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(1)  Branching

(2) Linear

(3) Programmed instruction
(4) Self instruction

is the ‘RIGHT’ instructional technology for the understanding level of teaching,.

Chosen Option :

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897015
Option 1 ID : 42558927280
Option 2 1D : 42558927281
Option 3 ID : 42558927282
Option 4 ID : 42558927283
Status : Answered
Chosen Option: 3
Q.40 Select the ‘RIGHT’ combination of statements.
A.  Role of Teacher’s personality is very important - Idealism
B.  Role of Teacher’s personality is of limited importance - Pragmatism
C.  Role of Teacher’s personality is very important - Pragmatism
D. Role of Teacher’s personality is not of limited importance - Naturalism
Choose the correct answer from the options given below :
(1) A and B Only
(2) Band COnly
(3) Cand D Only
(4) A and C Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897017
Option 11D : 42558927288
Option 2 ID : 42558927289
Option 3 ID : 42558927290
Option 4 ID : 42558927291
Status : Answered

1
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Q41 Arrange the components of Teaching process in order of occurrence, from initial to final.

A.  Performance Assessment
B. Instructional Goal
C.  Entering behaviour
D. Instructional procedure
Choose the correct answer from the options given below :
(), ACDB
2 CADB
3 BCDA
4 BCAD

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897016
Option 11D : 42558927284
Option 2 ID : 42558927285
Option 3 ID : 42558927286
Option 4 ID : 42558927287

Status : Answered

Chosen Option: 3

Q.42 Choose the correct statements about Post-Vedic Education.
A, Post-Vedic education was not meant only for the sake of education. It was for the sake of
life.
B.  Self study was emphasized
C.  Upanishads are known as ‘Para-Vidya’
D. The student who studied three vedas was called ‘Vaidya'
E.  Upanishads are considered to be above all kinds of material knowledge
Choose the correct answer from the options given below :
(1) A, B, C, DOnly
(2 A CD,E Only
(3) B,C D,EOnly
(4) A, B, CEOnly

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255896997
Option 11D : 42558927208
Option 2 ID : 42558927209
Option 3 ID : 42558927210
Option 4 ID : 42558927211

Status : Answered
Chosen Option: 1
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Q.43 : ) ) ) .
Major philosophical approaches to environmental ethics are :
A.  Anthropocentrism
B. Egocentrism
G Biocentrism
D. Ecocentrism
Choose the correct answer from the options given below :
(1) A, Band D Only
(2) A BCandD
(3) A, CandD Only
(4) A, Band COnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897027
Option 11D : 42558927328
Option 2 ID : 42558927329
Option 3 ID : 42558927330
Option 4 ID : 42558927331
Status : Answered
Chosen Option: 3
Q.44 A standard address format that constitutes a reference to an internet resource is :
(1) HITP
() ISP
(3) FTIP
(4) URL
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897019
Option 1 1D : 42558927296
Option 2 ID : 42558927297
Option 3 ID : 42558927298
Option 4 1D : 42558927299
Status : Answered
Chosen Option: 4
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Q.45 Arrange Millennium Development Goals in increasing order according to their goal number.
A, Reduce child mortality

Ensure environmental sustainability

Promote gender equality and empower women

Improve maternal health

Mo ®

¢ Achieve universal primary education

Choose the correct answer from the options given below :
(1) EBDAC

2 ECADB

3) ABCDE

(4) B,CDEA

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897026
Option 11D : 42558927324
Option 2 ID : 42558927325
Option 3 ID : 42558927326
Option 4 ID : 42558927327

Status : Answered

Chosen Option: 4

Comprehension:

Read the following passage and answer the questions :

Every now and then some retired civil servants come out with his memoirs, painting a glorious
picture of the heights of administrative efficiency reached during his reign. There is often the
suggestion that had there not been so much political interference, things would have been even
more fantastic. It is not unusual for the self-styled hero to blame not only interfering politicians but
also fellow civil servants who were idiots or crooks, for his failures. This attitude of smug satisfaction
is, unfortunately developed during the years of service. Self preservation rather than service is
encouraged by our whole system of rules and procedures.

The remedy has to be drastic and quickly effective. The over-protection now granted to civil
servants must end. Today to remove an erring civil servant is just not possible. And the only thing
that the highest authority in the Government, both in the state and at the centre, can do is to
transfer an official from one job to another.

The rules for taking disciplinary action are so complicated that, in the end, the defaulting
civil servant gets away, and gets his full emoluments even for the period of the disciplinary
proceedings, thus making it a paid holiday for him.

The result is that the administration has become rule-oriented and not result oriented. Action
is possible against the official who takes some interest in his work, but no action is ever taken
against a person who does not deliver the goods. If the country is to adopt a result oriented
approach, it is necessary to link job performance with job retention.

SubQuestion No : 46

Q.46 What needs to be stopped by the government to correct the attitude of the civil servants ?
(1) Over-protection
(2)  Use of public transport for personal use
(3)  Grant of different types of additional leaves
(4) Medical facilities
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897031
Option 1 ID : 42558927340
Option 2 ID : 42558927341
Option 3 ID : 42558927342
Option 4 ID : 42558927343

Status : Answered

Chosen Option: 1
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Comprehension:

Read the following passage and answer the questions :

Every now and then some retired civil servants come out with his memoirs, painting a glorious
picture of the heights of administrative efficiency reached during his reign. There is often the
suggestion that had there not been so much political interference, things would have been even
more fantastic. It is not unusual for the self-styled hero to blame not only interfering politicians but
also fellow civil servants who were idiots or crooks, for his failures. This attitude of smug satisfaction
is, u_nfmhmately developed during the years of service. Self preservation rather than service is
encouraged by our whole system of rules and procedures.

The remedy has to be drastic and quickly effective. The over-protection now granted to civil
servants must end. Today to remove an erring civil servant is just not possible. And the only thing
that the highest authority in the Government, both in the state and at the centre, can do is to
transfer an official from one job to another.

The rules for taking disciplinary action are so complicated that, in the end, the defaulting
civil servant gets away, and gets his full emoluments even for the period of the disciplinary
proceedings, thus making it a paid holiday for him.

The result is that the administration has become rule-oriented and not result oriented. Action
is possible against the official who takes some interest in his work, but no action is ever taken
against a person who does not deliver the goods. If the country is to adopt a result oriented
approach, it is necessary to link job performance with job retention.

SubQuestion No : 47

.47 ; . ; 5
Q The expression ‘deliver the goods’ stands for :
(I) Show good performance
(2)  Accept illegal favors
(3) To facilitate the concerned to drop the article(s) at the right place
(4) To please one's superiors.
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

MCQ
4255897033
42558927348
42558927349
42558927350
42558927351
Answered

1
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Comprehension:

Read the following passage and answer the questions :

Every now and then some retired civil servants come out with his memoirs, painting a glorious
picture of the heights of administrative efficiency reached during his reign. There is often the
suggestion that had there not been so much political interference, things would have been even
more fantastic. It is not unusual for the self-styled hero to blame not only interfering politicians but
also fellow civil servants who were idiots or crooks, for his failures. This attitude of smug satisfaction
is, u_nfmhmately developed during the years of service. Self preservation rather than service is
encouraged by our whole system of rules and procedures.

The remedy has to be drastic and quickly effective. The over-protection now granted to civil
servants must end. Today to remove an erring civil servant is just not possible. And the only thing
that the highest authority in the Government, both in the state and at the centre, can do is to
transfer an official from one job to another.

The rules for taking disciplinary action are so complicated that, in the end, the defaulting
civil servant gets away, and gets his full emoluments even for the period of the disciplinary
proceedings, thus making it a paid holiday for him.

The result is that the administration has become rule-oriented and not result oriented. Action
is possible against the official who takes some interest in his work, but no action is ever taken
against a person who does not deliver the goods. If the country is to adopt a result oriented
approach, it is necessary to link job performance with job retention.

SubQuestion No : 48

Q48 e existing system of administration seems to encourage civil servants.

(1) to become self-styled heroes and dictate others
(2) to project their performance which is actually superficial
(3)  to become self-centered and remain concerned about their personal gains
(4) to fight back the corrupt politicians

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897030
Option 11D : 42558927336
Option 2 ID : 42558927337
Option 3 ID : 42558927338
Option 4 ID : 42558927339

Status : Answered

Chosen Option : 2
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Comprehension:

Read the following passage and answer the questions :

Every now and then some retired civil servants come out with his memoirs, painting a glorious
picture of the heights of administrative efficiency reached during his reign. There is often the
suggestion that had there not been so much political interference, things would have been even
more fantastic. It is not unusual for the self-styled hero to blame not only interfering politicians but
also fellow civil servants who were idiots or crooks, for his failures. This attitude of smug satisfaction
is, u_nfmhmately developed during the years of service. Self preservation rather than service is
encouraged by our whole system of rules and procedures.

The remedy has to be drastic and quickly effective. The over-protection now granted to civil
servants must end. Today to remove an erring civil servant is just not possible. And the only thing
that the highest authority in the Government, both in the state and at the centre, can do is to
transfer an official from one job to another.

The rules for taking disciplinary action are so complicated that, in the end, the defaulting
civil servant gets away, and gets his full emoluments even for the period of the disciplinary
proceedings, thus making it a paid holiday for him.

The result is that the administration has become rule-oriented and not result oriented. Action
is possible against the official who takes some interest in his work, but no action is ever taken
against a person who does not deliver the goods. If the country is to adopt a result oriented
approach, it is necessary to link job performance with job retention.

SubQuestion No : 49

Q49 1y paid holiday’ as referred to by the author supports his argument that :

(1)  Despite disciplinary proceedings against him, the erring officer gets full emoluments
(2)  To honor the effective officer, additional emoluments are given to the officer
(3)  Money given to the officers for celebrating their vacations
(4) Money given in advance

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897034
Option 11D : 42558927352
Option 2 ID : 42558927353
Option 3 ID : 42558927354
Option 4 ID : 42558927355

Status : Answered

Chosen Option : 2
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Comprehension:

Read the following passage and answer the questions :

Every now and then some retired civil servants come out with his memoirs, painting a glorious
picture of the heights of administrative efficiency reached during his reign. There is often the
suggestion that had there not been so much political interference, things would have been even
more fantastic. It is not unusual for the self-styled hero to blame not only interfering politicians but
also fellow civil servants who were idiots or crooks, for his failures. This attitude of smug satisfaction
is, u_nfmhmately developed during the years of service. Self preservation rather than service is
encouraged by our whole system of rules and procedures.

The remedy has to be drastic and quickly effective. The over-protection now granted to civil
servants must end. Today to remove an erring civil servant is just not possible. And the only thing
that the highest authority in the Government, both in the state and at the centre, can do is to
transfer an official from one job to another.

The rules for taking disciplinary action are so complicated that, in the end, the defaulting
civil servant gets away, and gets his full emoluments even for the period of the disciplinary
proceedings, thus making it a paid holiday for him.

The result is that the administration has become rule-oriented and not result oriented. Action
is possible against the official who takes some interest in his work, but no action is ever taken
against a person who does not deliver the goods. If the country is to adopt a result oriented
approach, it is necessary to link job performance with job retention.

SubQuestion No : 50

Q.50

To adopt a result-oriented approach, Government must link :
(1) job performance with job satisfaction
(2) job performance with out of the way promotion
(3) job performance with job retention
(4) job performance with job appraisal

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897032
Option 1 ID : 42558927344
Option 2 ID : 42558927345
Option 3 ID : 42558927346
Option 4 ID : 42558927347

Status : Answered

Chosen Option : 3

Section : Sociology
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Q.51 Match List-1 with List-Il.
List-1 List-Il
Scholar Concept/Contribution
A.  George Peter Murdock The basic and irreducible functions of family
B.  Talcott Parsons The Universal functions of family
C.  Edmund Leach The Politics of Family
D. R.D. Laing A Runaway world
Choose the correct answer from the options given below:
1. A-l, B-Il, C-1V, D-lIl
2. A-lll, B-Il, C-I, D-IV
3. A-ll, B-1, C-1V, D-lll
4. A-ll, B-ll, C-IV, D-|
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897112
Option 1 ID : 42558927664
Option 2 ID : 42558927665
Option 3 ID : 42558927666
Option 4 ID : 42558927667
Status : Answered
Chosen Option: 4
Q.52 A vast urban region containing number of cities and their surrounding suburbs is best defined as.
1. Megacity
2. Megaregion
B Urban Corridor
4. Megalopolis
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897070
Option 1 ID : 42558927496
Option 2 ID : 42558927497
Option 3 ID : 42558927498
Option 4 ID : 42558927499
Status : Answered
Chosen Option : 3
Q.53  \What is the term for ‘the knowledge that human beings acquire from sensory experiences’?
1 Ontology
2. Empiricism
3. Rationalism
4 Description
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897037
Option 11D : 42558927364
Option 2 ID : 42558927365
Option 3 ID : 42558927366
Option 4 ID : 42558927367
Status : Answered
Chosen Option : 2
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Q54 The testing of hypothesis primarily involves )

A. Formulating your assumption
B.  Collecting required data
C.  Analysing the data to draw conclusion about assumption
D.  Testing first alternate hypothesis
E. Testing null hypothesis
Choose the most appropriate answer from the options given below:
1. A,B,C DOnly
2.  B,CD,EOnly
3. A, B, COnly
4, C, D, E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897091
Option 1 ID : 42558927580
Option 2 ID : 42558927581
Option 3 ID : 42558927582
Option 4 ID : 42558927583
Status : Answered
Chosen Option : 2
Q.55  Which of the following is not true about Ulrich Beck’s theory of risk?
A.  Beckis openly critical of modernity and its attendant risks
B. Beck’s thesis argues that western nations have moved from an industrial or class society
C. He said that hunger is hierarchical, smog is democratic
D. Beck concludes that modernity does not have the capacity to solve problems it produces
E.  According to Beck, risks are largely invisible to lay people
Choose the correct answer from the options given below:
1.  AB,CDOnly
2. A,C DEOnly
3. A, B, C, EOnly
4.  A,B,D, EOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897098
Option 1 ID : 42558927608
Option 2 ID : 42558927609
Option 3 ID : 42558927610
Option 4 ID : 42558927611
Status : Answered
Chosen Option: 4
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Q.56 Following are the major public programmes/schemes for farmers introduced by the Government of India.

Arrange them sequentially from the earliest to the latest.
A. Pradhanmantri Matsya Sampada Yojana (Fisheries)

B. P.M Kisan Yojana
c. Soil Health Card Scheme
D.  Agricultural Credit (Kisan Credit Card)
E. Paramparagat Krishi Yojana (Promotion of Organic Farming)
Choose the correct answer from the options given below:
1 AE,CBD
2. CADBE
3. D,CA,BE
4, D,C,E BA
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897089
Option 1 ID : 42558927572
Option 2 ID : 42558927573
Option 3 ID : 42558927574
Option 4 ID : 42558927575
Status : Answered
Chosen Option : 1
Q57 |n which of his works has Emile Durkheim advocated a form of ‘Guild Socialism’?
1y The Division of Labour in Society
2. Professional Ethics and Civic Morals
3. The Rules of Sociological Method
4, Elementary Forms of Religious Life
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897056
Option 1 ID : 42558927440
Option 2 ID : 42558927441
Option 3 ID : 42558927442
Option 4 ID : 42558927443
Status : Answered
Chosen Option : 3
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A.
B
£
D
E
1.
2.
3.
4
Options 1. 1
2.2

3.3
4.4

Q.58 Arrange the Peasant movements during colonial India in chronological order.

Bardoli Satyagraha
Indigo Growers Agitation
Santhal Insurrection
Moplah Rebellion
Champaran Movement

Choose the correct answer from the options given below:

C,B,ED,A
E, B,C,A D
B,C D,E A
A,C B ED

Option 2 ID

Option 4 ID

Question Type :
Question ID :
Option 11D :

MCQ
4255897083
42558927548

: 42558927549
Option 31D :

42558927550

: 42558927551
Status :
Chosen Option :

Answered
1

Q.59

B.
G
D.

L.
Z.
3.
4
Options 1. 1
2.2

3.3
4.4

Arrange the following in a chronological order.
A.

Kyoto Protocol

Copenhagen Summit

Earth Summit at Rio

United Nations Environment Programme

Choose the correct answer from the options given below:

D,ACB
C,D,AB
D,C,AB
C,A, DB

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
4255897086
42558927560
42558927561
42558927562
42558927563
Answered

3
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Q60 \Who among the following distinguished between culture and civilization?

1 Alfred Weber
2 Emile Durkheim
3. Marcel Mauss
4 Claude-Levi Strauss
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897057
Option 1 ID : 42558927444
Option 2 ID : 42558927445
Option 3 ID : 42558927446
Option 4 ID : 42558927447
Status : Answered
Chosen Option : 4
Q.61 Ivan lllich argued that modern medical practices has caused more harm due to iatrogenesis. He
conceptualizes three types of iatrogenesis as follows-
A.  Clinical iatrogenesis
B. Cultural iatrogenesis
g Medico-Legal iatrogenesis
D.  Social iatrogenesis
E. Epistemic iatrogenesis
Choose the correct answer from the options given below:
1. A, B, COnly
2. A, C, DOnly
3 A, B, DOnly
4. A, C, EOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897104
Option 1 ID : 42558927632
Option 2 ID : 42558927633
Option 3 ID : 42558927634
Option 4 ID : 42558927635
Status : Answered
Chosen Option : 4
Q62 ‘Grounded Theory’ in social research was first developed by the following.
1. Denzinand Lincoln
2 Clifford Geertz and Marcus G.E
3. Barney Glaser and Anselm Strauss
4 Fielding N.G and Lee R.N
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897049
Option 1 ID : 42558927412
Option 2 ID : 42558927413
Option 3 ID : 42558927414
Option 4 ID : 42558927415
Status : Answered
Chosen Option : 2
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1.

Q.63 The finding that Chloro Fluro Carbon (CFCs) can destroy ozone molecules and may threaten to earth’s
protective ozone layer was published by.

Schnailberg and Gould

2. Rachel Carson
3 Donella H Meadows
4. Sherwood Rowland and Mario Molina
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897072
Option 1 ID : 42558927504
Option 2 ID : 42558927505
Option 3 ID : 42558927506
Option 4 ID : 42558927507
Status : Answered
Chosen Option : 2
Q.64 The term ‘Symbolic Interactionism’ was first introduced by whom amongst the following ?
1, George Herbert Mead
2, Herbert Blumer
Fe Charles Horton Cooley
4, Edmund Husserl
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897050
Option 1 ID : 42558927416
Option 2 ID : 42558927417
Option 3 ID : 42558927418
Option 4 ID : 42558927419
Status : Answered
Chosen Option : 1
Q.65 o :
New Religious Movements (NRMs) owe their growth to :
1. Resurgence of mainstream religions
2, Rising economic inequalities
2. Rising secularization
4,  Rise of information and knowledge
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897073
Option 11D : 42558927508
Option 2 ID : 42558927509
Option 3 ID : 42558927510
Option 4 ID : 42558927511
Status : Answered
Chosen Option: 3
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Q.66 To select an unbiased sample in statistical sense we need to make sure each unit has an and
chance of selection.

Equal and Independent

Guaranteed and Objective

Equal and Reliable

Rational and Equal

ol o L

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897035
Option 1 ID : 42558927356
Option 2 ID : 42558927357
Option 3 ID : 42558927358
Option 4 ID : 42558927359

Status : Answered

Chosen Option: 1

Q.67 Which of the following statements from below are characteristic of ‘Fordism.’
The adoption of standardized work routines.

The resulting rise of the mass worker and bureaucratized unions.
Decentralized collective bargaining replaces centralized negotiations.
The use of inflexible technologies such as the assembly line.

The workers become more differentiated as people and require more differentiated commodities,
lifestyles, and cultural outlets.

Choose the correct answer from the options given below:

1. A, B and COnly

2. A,BandDOnly

3.  A,CandDOnly

4, A, B and E Only

moowe

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897092
Option 1 ID : 42558927584
Option 2 ID : 42558927585
Option 3 ID : 42558927586
Option 4 ID : 42558927587

Status : Answered

Chosen Option : 2
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Q.68 In ‘A Scientific Theory of Culture and Other Essays’ Malinowski lists which of the following as ‘basic needs?
A.  Metabolism
B. Bodily Comforts
G. Hygiene
D. Movement
E Shelter
Choose the most appropriate answer from the options given below:
1. A, B, EOnly
2 B, C, D Only
3 A, B, DOnly
4, B, C, E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897109
Option 11D : 42558927652
Option 2 ID : 42558927653
Option 3 ID : 42558927654
Option 4 ID : 42558927655
Status : Answered
Chosen Option : 4
Q69 Wwhich of the following concept is not associated with Ethnomethodology?
1. Indexicality of Meaning
2 Reflexive Actions
3. Reciprocity of Perspectives
4 Biase Attitude
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897060
Option 1 ID : 42558927456
Option 2 ID : 42558927457
Option 3 ID : 42558927458
Option 4 ID : 42558927459
Status : Answered
Chosen Option : 4
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Q70 Arrange the environmental movements of India in chronological order.

A.  Silent Valley Movement
B. Chipko Movement

C. Narmada Bachav Andolan
D.  Appiko Movement

E Chilka Bachav Andolan

Choose the correct answer from the options given below:
1. A,C D,E B

2. B,D,C E A

3. E,C,A DB

4 B,A DCE
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 4255897084
Option 1 ID : 42558927552
Option 2 ID : 42558927553
Option 3 ID : 42558927554
Option 4 ID : 42558927555

Status : Answered

Chosen Option : 4

Q.71  Women in Development (WID) is associated with which of the following theoretical approaches?

1, Post-feminism
2. Feminist Political Ecology
3.  Liberal Modernization Theory
4. Radical Feminism

Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Question ID : 4255897071
Option 11D : 42558927500
Option 2 ID : 42558927501
Option 3 ID : 42558927502
Option 4 ID : 42558927503

Status : Answered

Chosen Option : 2
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Q.72

Who introduced the term ‘role-handicap’ in Sociology?
1. Talcott Parsons

2. H.D. Kirk
3. T.R. Sarbin
4. T.M. Newcomb
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897069
Option 1 ID : 42558927492
Option 2 ID : 42558927493
Option 3 ID : 42558927494
Option 4 ID : 42558927495

Status : Answered

Chosen Option: 3

Q.73 which of the following statements are associated with McLuhan’s understanding of media?

A.  Printed page demands complete participation, unlike telephone
B.  Printis the technology of individualism

C. Cinema is cold medium

D.  Television is cold medium

E Medium is the Message

Choose the most appropriate answer from the options given below:
1. B, D, E Only

2 A, D, EOnly

3. B, C, D Only

4 C, D,EOnly
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897107
Option 1 ID : 42558927644
Option 2 ID : 42558927645
Option 31D : 42558927646
Option 4 ID : 42558927647

Status : Answered

Chosen Option : 2
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Q.74 The theoretical paradigm of functionalism is anchored in the idea that the maintenance of social cohesion,
order and stability rests on one of the following........
L Ideological inclination
2. Moral Consensus
3. Legal Discourse
4. Democratic Ethos

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897052
Option 1 ID : 42558927424
Option 2 ID : 42558927425
Option 3 ID : 42558927426
Option 4 ID : 42558927427

Status : Answered

Chosen Option: 1

Q.75 The theory of knowledge with regard to its method and validity, and the distinction between justified belief
and opinion in known as "
1 Methodology
2. Epistemology
3. Ethnomethodology
4. Empiricism
Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Question ID : 4255897041
Option 11D : 42558927380
Option 2 ID : 42558927381
Option 3 ID : 42558927382
Option 4 ID : 42558927383

Status : Answered

Chosen Option : 4

Q.76 The ways in which divisions of class, gender and ethnicity combine to produce complex forms of social
inequality is best defined by the term :
1 Social Exclusion
2. Intensive inequality
3. Interdivision
4, Intersectionality

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897074
Option 1 ID : 42558927512
Option 2 ID : 42558927513
Option 3 ID : 42558927514
Option 4 ID : 42558927515

Status : Answered

Chosen Option: 1
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Q.77  According to whom does capitalism not only exact physical labour but also emotional labour especially so in
the context of the hospitality sector.
1 Judith Butler
2. Betty Freidan
3. Arlie Hochschild
4.

Ann Okley
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897051
Option 1 ID : 42558927420
Option 2 ID : 42558927421
Option 3 ID : 42558927422
Option 4 ID : 42558927423
Status : Answered
Chosen Option: 3
Q78  Alfred Schutz’ contribution to sociological theorizing resides in his ability to blend.
1 Husserl’s phenomenology with dialectical materialism
Z Mead's interactionism with Weber's Verstehen
3. Husserl's phenomenology with Weber’s action theory
4, Husserl’s phenomenology with Durkheim’s Sociologism
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897067
Option 11D : 42558927484
Option 2 ID : 42558927485
Option 3 ID : 42558927486
Option 4 ID : 42558927487
Status : Answered
Chosen Option : 1
Q.79 According to Pierre Bourdieu in his “Forms of Capital” cultural capital is manifested in and through these
forms and states. These are
A. Institutionalised
B. Embodied
C.  Symbolised
D. Objectified
E: Network
Choose the most appropriate answer from the options given below:
1. A, B and DOnly
2. A, CandD Only
3: B, Cand E Only
4. C,Dand E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897105
Option 11D : 42558927636
Option 2 ID : 42558927637
Option 3 ID : 42558927638
Option 4 ID : 42558927639
Status : Answered
Chosen Option : 2
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Q.80 According to Ferdinand de Saussure, which are the two defining traits of the ‘linguistic signal.’
A.  Arbitrariness

B Difference
C Signifier
D. Linearity
E Signified

Choose the most appropriate answer from the options given below:
1. AandBOnly

2. AandDOnly
3. CandE Only
4 B and D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897100
Option 11D : 42558927616
Option 2 ID : 42558927617
Option 3 ID : 42558927618
Option 4 ID : 42558927619
Status : Answered
Chosen Option : 2
Q.81 In 19th Century Bombay, the elite English educated literati inaugurated the following civil society institutions.
Arrange them chronologically from prior to latter.
A. Geographical Society of Bombay
B.  Anthropological Society of Bombay
& Bombay Branch of the Royal Asiatic Society of Great Britain and Ireland
D. Literary Society of Bombay
Choose the correct answer from the options given below:
1. D;CB.A
2. E:ADE
3. D,C,A,B
4. BACD
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897080
Option 1 ID : 42558927536
Option 2 ID : 42558927537
Option 3 ID : 42558927538
Option 4 ID : 42558927539
Status : Answered
Chosen Option : 1
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982 Match List-1 with List-I1.
List- List-ll
A.  Organic Analogy l. August Comte
B.  Systemin Equilibrium 1. Herbert Spencer
€. Consensus Universalis 1. Emile Durkheim
D.  Causal-functional analysis IV.  Vilfredo Pareto
Choose the correct answer from the options given below:
1. A-I1V, B-1ll, C-l1, D-I
. A-lll, B-l, C-1l, D-IV
3 A-l, B-lll, C-1l, D-IV
4 A-ll, B-IV, C-1, D-llI
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897119
Option 11D : 42558927692
Option 2 ID : 42558927693
Option 3 ID : 42558927694
Option 4 ID : 42558927695
Status : Answered
Chosen Option : 4
Q83 Match List-1 with List-11.
List-1 List-l
A Zygmunt Bauman l. The Consequences of Modernity
B Anthony Giddens Il.  The Little Community
C. Robert Nisbet lIl.  Culture as Praxis
D Robert Redfield IV.  The Sociological tradition
Choose the correct answer from the options given below:
1. A-lll, B-l, C-1V, D-1I
2. A-IV, B-l, C-lil, D-11
3: A-1V, B-lIl, C-I1, D-I
4 A-Il, B-1, C-1V, D-lI
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897114
Option 1 ID : 42558927672
Option 2 ID : 42558927673
Option 3 ID : 42558927674
Option 4 ID : 42558927675
Status : Answered
Chosen Option: 1
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Options 1. 1
2.2
3.3
4.4

Z.
3.
4

Manuel Castells
Pierre Bourdieu
Jurgen Habermas
Karl Manheim

8% The concept ‘Undistorted Communication’ is associated with.
1.

Question Type :
Question ID :
Option 11D :

Option 2 ID

Option 4 ID

MCQ
4255897062
42558927464

: 42558927465
Option 31D :

42558927466

: 42558927467
Status :
Chosen Option :

Answered
4

Q85 The process of alternate dispute resolution involves mainly

A. Arbitration
B. Conviction
Z Conciliation
D. Consolation
E Mediation
1. A, B, EOnly
2. C, D, E Only
3. B, C, EOnly
4 A, C, EOnly
Options 1. 1
2.2
3.3
4.4

Choose the most appropriate answer from the options given below:

Question Type :
Question ID :

Option 11D

Option 3 ID

Status

MCQ
4255897090

: 42558927576
Option 21D :

42558927577

: 42558927578
Option 41D :

42558927579

: Answered
Chosen Option :

3
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Q.86 Who argued that domestic division of labour existed prior to the advent of industrial capitalism but capitalism
reinforced the public-private division of labour which was also exacerbated during this phase?
1 Antonio Gramsci
2. Fredrich Engles
3. Emile Durkheim
4.

Max Weber
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897047
Option 11D : 42558927404
Option 2 ID : 42558927405
Option 3 ID : 42558927406
Option 4 ID : 42558927407
Status : Answered
Chosen Option : 2
Q87 Match List-1 with List-II.
List-l List-1
A.  The Value Proposition i James Coleman
B.  Sympathetic Introspection 1. Pierre Bourdieu
€l Homo Sociologicus Ill.  George Homans
D.  Practice IV.  Charles Cooley
Choose the correct answer from the options given below:
1. A-1V, B-1, C-II, D-llI
2. A-ll, B-lll, C-IV, DAl
3. A-ll1, B-IV, C-1, D-lI
4. A-l, B-ll, C-1V, D-llI
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897124
Option 1 ID : 42558927712
Option 2 ID : 42558927713
Option 3 ID : 42558927714
Option 4 ID : 42558927715
Status : Answered
Chosen Option : 2
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Q.88  |dentify the purpose of social stratification through the standpoint of different perspectives.

A.  Facilitate filling of social positions (Functional)
B.  Facilitate exploitation (Conflict)

C. Influence peoples lifestyles (Interactionist)

D. For survival of fittest (Evolutionary)

El Social satisfaction (General)

Choose the most appropriate answer from the options given below:
1. A, B, COnly

2. A,B,CDOnly

3. ACDEOnly

4, B, C, D Only

Options 1. 1

2.2

3.3
4.4

Question Type : MCQ
Question ID : 4255897101
Option 1 ID : 42558927620
Option 2 ID : 42558927621
Option 3 ID : 42558927622
Option 4 ID : 42558927623

Status : Answered

Chosen Option : 4

Q89 Match List-1 with List-Il.

List-1 List-11
A.  MJS.ARao I Sarvodaya and Gramadana Movement
B. T.K Oomen 1. Shiv Sena Movement
C. Dipankar Gupta Ill.  S.N.D.P Movement
D.  P.N. Mukerji IV.  Naxalbari Movement

Choose the correct answer from the options given below:
1. A-lll, B-l, C-II, D-IV
2. A-ll,B-IV, C-l, DIl
3. A-1V, B-Il, C-Ill, D-|
4. A-l, B-lll, C-IV, D-lI

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897122
Option 1 ID : 42558927704
Option 2 ID : 42558927705
Option 3 ID : 42558927706
Option 4 ID : 42558927707

Status : Answered

Chosen Option : 4



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247

GET IT ON

Google Play

from the earliest to the latest.

A.  Interpretative model

B. Gratification model

€ Hyper reality model

D.  Hypodermic model

Choose the correct answer from the options given below:
1. B,A CD

Q.90 The following media-audience study models emerged overtime. Find the correct chronological sequence

2. ACGBD
3. D,A,B,C
4.  D,B,AC
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897079
Option 1 ID : 42558927532
Option 2 ID : 42558927533
Option 3 ID : 42558927534
Option 4 ID : 42558927535
Status : Answered
Chosen Option: 1
Q.91 Match the typology of movements given in List-l with sociologists in List-11.
List-1 List-ll
A.  Charismatic, ideological and organizational I Partha Mukheriji
B. Accumulative, alternative and transformative Il M S A Rao
C. Revolt, Rebellion, Reform and Revolution . T.K. Oommen
D.  Reformist, Transformatory and Revolutionary Movements IV.  Ghanshyam Shah
Choose the correct answer from the options given below:
1. A-ll, B-lll, G-I, D-IV
2. A-lll, B-l, C-IV, D-II
3. A-l, B-Il, C-ll, D-IV
4. A-IV, B-ll, C-I, D-lII
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897120
Option 1 ID : 42558927696
Option 2 ID : 42558927697
Option 3 ID : 42558927698
Option 4 ID : 42558927699
Status : Answered
Chosen Option : 4
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Q.92 According to Trochim and Donnelly, what is the chronological sequence of alternative criteria for judging
qualitative research?
A.  Confirmability
B.  Credibility
G. Dependability
D.  Transferability
Choose the correct answer from the options given below:

1.  ABCD
2. B,ADC
3. BACD
4. B,D,CA
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897077
Option 1 ID : 42558927524
Option 2 ID : 42558927525
Option 3 ID : 42558927526
Option 4 ID : 42558927527
Status : Answered
Chosen Option : 2
Q.93  provide chronological sequence of the constitutional amendments.
A. Right to Education
B.  Ten percent reservation to Economically Weaker Section (EWS)
C. Constitutional status to Panchyati Raj Institutions
D.  Constitutional status to the National Commission for Backward Classes
E/ Bifurcation of the National Commission for Scheduled Castes and Scheduled Tribes
Choose the correct answer from the options given below:
1. A,B,CD,E
2. B,CED,A
3. C,A BDE
4. CAEDB
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897076
Option 1 ID : 42558927520
Option 2 ID : 42558927521
Option 3 ID : 42558927522
Option 4 ID : 42558927523
Status : Answered
Chosen Option : 1
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Q.94 Match List-1 with List-Il.

List-1 List-ll
A.  The Philosophical Discourse of Modernity I Arjun Appadurai
B. Formations of Modernity Il Jurgen Habermas
C.  The Consequences of Modernity . Stuart Hall et al.
D.  Modernity at Large: Cultural Dimensions of Globalization IV.  Anthony Giddens
Choose the correct answer from the options given below:
1. A-lll, B-1l, C-l, D-IV
2. A-ll, B-1V, C-I, D-IlI
3. A-lll, B-IV, C-Il, D-|
4 A-ll, B-1ll, C-1v, D-I
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897117
Option 1 ID : 42558927684
Option 2 ID : 42558927685
Option 3 ID : 42558927686
Option 4 ID : 42558927687
Status : Answered
Chosen Option: 3
Q.95 The following are the political and economic events that occurred in the political history of India. Arrange
them sequentially from the first to the latest.
A. Green Revolution
B. Nationalization of Banks
&l General Agreement on Trade and Tariffs
D. Community Development Programme
E: National Emergency
Choose the correct answer from the options given below:
1. B,ACDE
2. A CEDB
3. D,ABEC
4. D,B,A,CE
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897088
Option 11D : 42558927568
Option 2 ID : 42558927569
Option 3 ID : 42558927570
Option 4 ID : 42558927571
Status : Answered
Chosen Option : 2
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Q.96 Max Weber used the term ‘Class’ to refer to a group of people who have similar level of
A.  Education

B. Income
c Status
D.  Technical skill
E.  Wealth
Choose the most appropriate answer from the options given below:
1. B, Cand D Only
2. B, Cand E Only
3. A, B and C Only
4. C, Dand E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897102
Option 11D : 42558927624
Option 2 ID : 42558927625
Option 3 1D : 42558927626
Option 4 ID : 42558927627
Status : Answered
Chosen Option : 2
97" The study of signs and symbols is called as :
1. Hermeneutics
2. Semiotics
2. Epistemic
4. Semantics
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897053
Option 11D : 42558927428
Option 2 ID : 42558927429
Option 3 ID : 42558927430
Option 4 ID : 42558927431
Status : Answered
Chosen Option : 2
Q.98 When a subculture conspicuously and deliberately opposes certain aspects of the larger culture, it is known
asa.
L Counterculture
2. Assimilation
3. Cultural Conflict
4. Cultural Shock
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897036
Option 11D : 42558927360
Option 2 ID : 42558927361
Option 3 ID : 42558927362
Option 4 ID : 42558927363
Status : Answered
Chosen Option : 1
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Q99 According to Habermas ‘Legitimacy Crisis’ means :

1.  State increasingly retreats from the economy
2, State seeks to translate political issues into ‘technical problems’
3.  State seeks to ‘de-technicalize’ political issues
4. State debunks ‘technical consciousness’
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897066
Option 11D : 42558927480
Option 2 ID : 42558927481
Option 3 ID : 42558927482
Option 4 ID : 42558927483
Status : Answered
Chosen Option: 3
Q.100 Match List-1 with List-ll.
List-1 List-1l
A.  The Sociologist and Social Change in India Today k D.P Mukeriji
B. Caste and Communication in an Indian Village . Rama Krishna Mukherjee
C.  Diversities Ill.  Radha Kamal Mukerjee
D.  Sociology of Indian Sociology IV.  D.N Majumdar
Choose the correct answer from the options given below:
1. A-l, B-ll, C-llI, D-IV
2. A, B-l, C-IV, D-III
3. A-l1l, B-IV, C-1, D-II
4. A-1V, B-lll, C-Il, D-I
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897123
Option 1 ID : 42558927708
Option 2 ID : 42558927709
Option 3 ID : 42558927710
Option 4 ID : 42558927711
Status : Answered
Chosen Option : 4
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Q10T Match List-1 with List-11.
List-1 List-ll
Scholars Concepts
A.  Alfred Schultz l. Alienation
B. Pierre Bourdieu I1. Life World
C. Auguste Comte IIl.  Positivism
D.  Karl Marx IV.  Cultural capital

Choose the correct answer from the options given below:
1. A-ll, B-IV, C-lll, D-I
2. A-l,B-lll, C-ll, D-IV
3. A-ll, B-lll, C-1V, D-I
4 A-ll, B-1, C-1V, D-lI
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 4255897110
Option 11D : 42558927656
Option 2 ID : 42558927657
Option 3 ID : 42558927658
Option 4 ID : 42558927659

Status : Answered

Chosen Option: 1

Q102 | dentify three basic sources of Power within any political system.

A. Prestige
B. Class

C. Force

D. Influence
E. Authority

Choose the most appropriate answer from the options given below:
1. A, B, D, Only

. B, C, EOnly

3. C, D, E Only

4 A, C, EOnly
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897103
Option 1 ID : 42558927628
Option 2 ID : 42558927629
Option 3 ID : 42558927630
Option 4 ID : 42558927631

Status : Answered

Chosen Option : 2
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Q.103

Match List-1 with List-1l.
List-1

Scholar

Max Mulller
Morgan Lewis H
Kane P.V

] Emile Durkheim

onw® >

l.
1.

1.
V.

List-I

Contribution

History of Dharmashastra

The Elementary Forms of Religious Life
Origin and growth of Religion

Ancient Society

Choose the correct answer from the options given below:

1. A-ll, B-Ill, C-1V, D-|

2. A-lll, B-IV, C-l, D-II
3. A-lll, B-IV, C-Il, D-I
4. A-1V, B-1I, C-|, D-llI
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897113
Option 11D : 42558927668
Option 2 ID : 42558927669
Option 3 ID : 42558927670
Option 4 ID : 42558927671
Status : Answered
Chosen Option : 2
Q.104 The hook ‘Cultural Change in India: Identity and Globalization’ is authored by
1, Arjun Appadurai
2. Yogendra Singh
3. Dipankar Gupta
4 Satish Deshpande
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897064
Option 1 ID : 42558927472
Option 2 ID : 42558927473
Option 3 ID : 42558927474
Option 4 ID : 42558927475
Status : Answered
Chosen Option: 4



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

7

GET IT ON

Google Play

@105 \Who amongst following were the doctoral students of G.S Ghurye ?

A. A.K Saran
B. A.R Desai
7 T.N Madan
D. M.N Srinivas
E. D.N Majumdar
Choose the correct answer from the options given below:
1. A,BandE
2. B,CandE
3. DandE
4, BandD
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897093
Option 1 ID : 42558927588
Option 2 ID : 42558927589
Option 3 ID : 42558927590
Option 4 ID : 42558927591
Status : Answered
Chosen Option: 3
Q.106 What is the term which defines the idea ‘that people will want to engage with people who like similar things
as they do.’
1 People you may know
2. Homophily
3. Online community
4. Technological determinism
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897038
Option 1 ID : 42558927368
Option 2 ID : 42558927369
Option 3 ID : 42558927370
Option 4 ID : 42558927371
Status : Answered
Chosen Option : 2
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Q.107 David Held and his colleagues classified the arguments about globalization into which of the three broad
schools :
A. Hypoglobalizers
B Hyperglobalizers

C: Sceptics
D.  Hybridglobalizers
E. Transformationalists
Choose the most appropriate answer from the options given below:
1. A, B, E Only
2 B, C, EOnly
3. A, B, DOnly
4.  B,D,EOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897108
Option 11D : 42558927648
Option 2 ID : 42558927649
Option 3 1D : 42558927650
Option 4 ID : 42558927651
Status : Answered
Chosen Option: 4
Q.108 Which type of research, studies the socio-economic characteristics of residents of a community?
L Exploratory Research
2. Descriptive Research
3. Correlational Research
4. Experimental Research
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897045
Option 11D : 42558927396
Option 2 ID : 42558927397
Option 3 ID : 42558927398
Option 4 ID : 42558927399
Status : Answered
Chosen Option: 3
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Q109 Arrange the following writings of Pierre Bourdieu in a chronological order.
An Invitation to Reflexive Sociology

The Logic of Practice

Distinction: A Social Critique of the Judgement of Taste

Masculine Domination

Language and Symbolic Power

Choose the correct answer from the options given below:

1. BEAED

moo®»

2. C,E BAD

3. B,A DEC

4. CBDAE
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897087
Option 1 ID : 42558927564
Option 2 ID : 42558927565
Option 3 ID : 42558927566
Option 4 ID : 42558927567

Status : Answered

Chosen Option: 4

Q.110 Match List-1 with List-11.

List-1 List-I
Space agency/programme Year of start/beginning
A.  Indian National Committee for Space Research . 1969
B. Indian Space Research Organization 1. 2023
(5 Department of Space . 1962
D.  Chandrayan-3 V. 1972

Choose the correct answer from the options given below:
1. A-ll, B-lll, C-1, D-IV

2. A-lll, B-ll, C-1V, D-I

3. A-lll, B-l, C-1V, D-lI

4 A-1V, B-l, C-II, D-1lIl
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 4255897115
Option 1 ID : 42558927676
Option 2 ID : 42558927677
Option 3 ID : 42558927678
Option 4 ID : 42558927679

Status : Answered

Chosen Option: 3
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111 .
Q The term ‘Marxology’ was coined by
1 R. K. Mukherjee
2, D.N. Majumdar
3. A.R. Desai
4.  D.P. Mukerji
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897063
Option 11D : 42558927468
Option 2 ID : 42558927469
Option 3 ID : 42558927470
Option 4 ID : 42558927471
Status : Answered
Chosen Option: 1
Q.112 Where people are in a long-term partner relationship, and they and other people regard them as a couple,
but they live separately for most of the time refers to .
1.  Intimate and familial relationship
2. Intimacies and relationship
3. Living apart together relationship
4, Mixed race family relationship
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897040
Option 11D : 42558927376
Option 2 ID : 42558927377
Option 3 ID : 42558927378
Option 4 ID : 42558927379
Status : Answered
Chosen Option: 3
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Q.113  Theoretical sampling is used when.

A.  Extension of the basic population is not known in advance
B. Features of the basic population are not known in advance
C.  Sample Size is not defined in advance
D.  Repeated drawing of sampling elements with criteria to be defined again in each step
E.  Sampling is finished when the whole sample has been studied
Choose the correct answer from the options given below:
1. A,B,C DOnly
2. B,CD,EOnly
3.  AC DEOnly
4.  A,B,D,EOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897096
Option 11D : 42558927600
Option 2 ID : 42558927601
Option 3 ID : 42558927602
Option 4 ID : 42558927603
Status : Answered
Chosen Option : 2
Q114 Which of the following is not a type of triangulation in social research?
: Data triangulation
2, Investigator triangulation
3 Sampling triangulation
4, Methodological triangulation
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897065
Option 1 ID : 42558927476
Option 2 ID : 42558927477
Option 3 ID : 42558927478
Option 4 ID : 42558927479
Status : Answered
Chosen Option : 4
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R. K. Mukerjee

2.
3. D.P Mukerji
4,

D.N Majumdar

Q.115  Which Indian Sociologist critiqued the Eurocentric form of sociology and argued for indigenous sociology and
based his arguments on universal humanism?
1. A.R. Desai

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897048
Option 1 ID : 42558927408
Option 2 ID : 42558927409
Option 3 1D : 42558927410
Option 4 ID : 42558927411
Status : Answered
Chosen Option: 3
Q116 Who classified social structure as ‘actual structure’ and ‘general structure’?
1. Emile Durkheim
2 Claude-Levi Strauss
3. Radcliffe Brown
4 S. F. Nadel
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897058
Option 1 ID : 42558927448
Option 2 ID : 42558927449
Option 3 ID : 42558927450
Option 4 ID : 42558927451
Status : Answered
Chosen Option : 3
Q.117  Which of the following is true about the role of Theory in Research?
A. It provides orientation to research
B.  Theory does not summarize about what is already known about the object of study
C.  Theory points to gaps in knowledge
D.  Theory predicts facts
E.  Theory conceptualizes and classifies data
Choose the correct answer from the options given below:
1. A, B, D, E Only
2. AC D EOnly
3. B, CD, EOnly
4. A,B,C EOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897097
Option 11D : 42558927604
Option 2 ID : 42558927605
Option 3 ID : 42558927606
Option 4 ID : 42558927607
Status : Answered
Chosen Option : 2
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Q118 Arrange the phases of development of ‘Self' in a chronologial order.

A. Engaging in Games
B. Recognizing the generalized others
C. Engaging in Imitation
D.  Engagingin Play
Choose the correct answer from the options given below:
1. D,C, B, A
2 C,D,AB
3. A, B CD
4 B,ACD
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897082
Option 11D : 42558927544
Option 2 ID : 42558927545
Option 3 ID : 42558927546
Option 4 ID : 42558927547
Status : Answered
Chosen Option : 2
1% Match List-1 with List-Il.
List-1 List-1l
A.  Ronald Barthes . Cultural doxa
B. Pierre Bourdieu . The Long Revolution
C.  Antonio Gramsci . Mythologies (myth)
D.  Raymond Williams V. Hegemony
Choose the correct answer from the options given below:
1. A-ll, B-l, C-1ll, D-IV
2, A-1V, B-lll, C-1, D-lI
3. A-lll, B-IV, C-1, D-lI
4 A-lll, B-1, C-1V, D-lI
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897111
Option 11D : 42558927660
Option 2 ID : 42558927661
Option 3 ID : 42558927662
Option 4 ID : 42558927663
Status : Answered
Chosen Option : 4
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Q.120 what do you call a worker whose job involves encouraging others to consume goods, services and cultural

products?
1 Cultural Reproduction Agent
2. Gig Worker
3. Cultural Intermediatory
4. Manager
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897042
Option 11D : 42558927384
Option 2 ID : 42558927385
Option 3 ID : 42558927386
Option 4 ID : 42558927387
Status : Answered
Chosen Option : 2
Q.121  Which of the following is true about Levi-Strauss ‘Theory of Exchange’ ?
A. Exchange must be viewed in terms of its functions for integrating the larger social structure
B. Levi-Strauss rejects the psychological interpretations of exchange
C. He endorsed utilitarian assumption that first principles of exchange are economic in nature
D.  Exchange cannot be understood solely in terms of individual motives
E. Exchange relations involve costs for individuals which are attributed to society
Choose the correct answer from the options given below:
1. A,B,C,DOnly
2. A,B,DEOnly
3. A, C, D, EOnly
4. B,CD,EOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897099
Option 1 ID : 42558927612
Option 2 ID : 42558927613
Option 3 ID : 42558927614
Option 4 ID : 42558927615
Status : Answered
Chosen Option : 4
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Q122 chronologically arrange the elements or building blocks of Social Theory :
A.  Statements

B. Formats
C. Concepts
D.  Variables
Choose the correct answer from the options given below:
1. AB,CD
2 B,A D,C
3. C,D,AB
4 C,D,B A
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
4255897078
42558927528

: 42558927529

42558927530
42558927531
Answered

1

Q.123 Indentured workers from colonial India were relocated to the following colonies across the world to work on
plantations.
A, Surinam
B. Columbia
C.  Fiji
D. Mauritius
E. New Guinea
Choose the correct answer from the options given below:
1. A,BandE
2. A,CandD
3: A, DandE
4. A,BandC
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
4255897094
42558927592
42558927593
42558927594
42558927595
Answered

2
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Q.124 The numerical value that is assigned to a response at the time of analysing the data is called as.

119 Code
2. Coding
3. Variable
4. Case View
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897039
Option 1 ID : 42558927372
Option 2 ID : 42558927373
Option 3 ID : 42558927374
Option 4 ID : 42558927375
Status : Answered
Chosen Option : 2
Q.125 Radcliffe Brown had carried out his field work in the following geographical places.
A. Andamans and Nicobar Islands
B. Indonesia
G Australia
D. Mexico
E: Malaysia
Choose the most appropriate answer from the options given below:
1. B, Cand D Only
2 Aand C Only
3. B and E Only
4. C, Dand EOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897106
Option 1 ID : 42558927640
Option 2 ID : 42558927641
Option 3 ID : 42558927642
Option 4 ID : 42558927643
Status : Answered
Chosen Option : 2
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Q.126 Some of the selected research works of A.R Desai is presented below. Arrange them in a chronological
sequence from prior to latter.
A.  Rural Sociology in India
B.  State and Society in India
C.  AProfile of Indian Slums
D.  Social Background of Indian Nationalism
Choose the correct answer from the options given below:
1. A C,D,B
A,D,C,B
C,D,AB
D,A,B,C

P

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897081
Option 1 ID : 42558927540
Option 2 ID : 42558927541
Option 3 ID : 42558927542
Option 4 ID : 42558927543

Status : Answered

Chosen Option: 3

Q.127  Match the concepts given in List-l with the names of sociologists given in List-ll.

List-1 List-11
A.  Competing functions of environment . Alan Schnaiberg
B. POET Model I Mol and Spaargaren
c. Ecological Modernization lll.  0O.D.Duncan
D.  Societal Environmental Dialectic IV.  W.Catton and R. Dunlap

Choose the correct answer from the options given below:
1. A-lll, B-ll, C-1, D-IV
2. A-ll, B-IV, C-1Il, D-I
3. A-1V, B-lll, C-1l, D-I
4 A-lll, B-l, C-l, D-IV
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 4255897121
Option 1 ID : 42558927700
Option 2 ID : 42558927701
Option 3 ID : 42558927702
Option 4 ID : 42558927703

Status : Answered

Chosen Option : 4
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Q.128 Which of the following marriage practices are preferred to ensure and protect family property and
inheritance rights.
A. Levirate prac‘tice
B. Couvade practice
&l Fraternal Polygynandry
D.  Sororal practice
E. Potlatch practice
Choose the correct answer from the options given below:
1. A,CandD
2 A,BandE
3. A,Band D
4, A,BandC
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897095
Option 1 ID : 42558927596
Option 2 ID : 42558927597
Option 3 1D : 42558927598
Option 4 ID : 42558927599
Status : Answered
Chosen Option: 1
Q.129 provide the chronological sequence of the development of Normative theories of media.
A.  Social responsibility theory
B. Libertarian Theory
C.  Authoritarian Theory
D.  Soviet Communist theory
E. Development Media theory
Choose the correct answer from the options given below:
1. E,A BCD
2. C,A B DE
3. B,ACED
4 C,BADE
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897075
Option 1 ID : 42558927516
Option 2 ID : 42558927517
Option 3 ID : 42558927518
Option 4 ID : 42558927519
Status : Answered
Chosen Option : 2
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Q.130 ‘Suppose a clerk tries to appear busier than he or she actually is when a supervisor happens to be watching’.
Erving Goffman would study that behaviour from what approach?

1 Psychological
2. Interactionist
3. Functionalist
4. Conflict
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897043
Option 1 ID : 42558927388
Option 2 ID : 42558927389
Option 3 ID : 42558927390
Option 4 ID : 42558927391
Status : Answered
Chosen Option: 3
Q.131  Which of the following is not associated with Anthony Gidden’s ‘theory of modernity’?
1, Distanciation
2. Colonization of Life world
3. Disembedding
4, Reflexivity
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897061
Option 1 ID : 42558927460
Option 2 ID : 42558927461
Option 3 ID : 42558927462
Option 4 ID : 42558927463
Status : Answered
Chosen Option : 1
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Q132 Match List-1 with List-11.

List- List-1l
A.  RiskSociety I Anthony Giddens
B.  Silent Spring 1. Paul Ehrlich
C.  The Politics of Climate Change . Rachel Carson
D.  The Population Bomb IV.  Ulrich Beck

Choose the correct answer from the options given below:
1. A-l, B-ll, C-IV, DIl
2. A-1V, B-l, C-Il1, D-lI
3. A-l, B-lll, C-1l, D-1V
4. A-lV, B-lll, C-1, D-lI

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897116
Option 1 ID : 42558927680
Option 2 ID : 42558927681
Option 3 1D : 42558927682
Option 4 ID : 42558927683

Status : Answered
Chosen Option: 3

Q133 Among the following tribes, which one practiced fraternal polyandry?

1. Irula
2. Bhil
3. Santhal
4, Toda
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897055
Option 1 ID : 42558927436
Option 2 ID : 42558927437
Option 3 ID : 42558927438
Option 4 ID : 42558927439

Status : Answered
Chosen Option : 2
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Q.134 \Who amongst the following edited a monthly periodical titled ‘The Indian Sociologist'?

1, G.S Ghurye
2. Irawati Karve
3. D.P Mukerji
4. Syamaji Krishnavarma
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897046
Option 1 ID : 42558927400
Option 2 ID : 42558927401
Option 3 ID : 42558927402
Option 4 ID : 42558927403
Status : Answered
Chosen Option : 4
Q.135 Who defined religion as a ‘unified system of beliefs and practices relative to sacred things'?
i Y Karl Marx
2. MaxWeber
3. Emile Durkheim
4. George Simmel
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897044
Option 1 ID : 42558927392
Option 2 ID : 42558927393
Option 3 ID : 42558927394
Option 4 ID : 42558927395
Status : Answered
Chosen Option : 4
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Q136 Match the concepts given in List-l with sociologists given in List-Il.

List-l List-11
A.  Power, Authority and Legitimacy . G H Mead
B.  Dyad and Traid . Vilfredo Pareto
C. Logico-Experimental Sociology . Max Weber
D.  Mind, Self and Society IV.  Georg Simmel

Choose the correct answer from the options given below:
1. A-1V, B-lll, C-1, D-lI
2. A-ll, B-1, C-1V/, D-llI
3. A-lll, B-IV, C-Il, D-I
4. A-ll, B-1v, C-Ill, D-I

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897118
Option 1 ID : 42558927688
Option 2 ID : 42558927689
Option 3 ID : 42558927690
Option 4 ID : 42558927691
Status : Answered
Chosen Option: 3
Q.137 Who introduced the notion ‘system levels’ and the concept of ‘different and multiple system’ in functional
analysis?
1. Talcott Parsons
2. Robert Merton
3. Bronislaw Malinowski
4. Marion. J. Levy
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897059
Option 1 ID : 42558927452
Option 2 ID : 42558927453
Option 3 ID : 42558927454
Option 4 ID : 42558927455
Status : Answered
Chosen Option : 4
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1L

Externalizing

Q.138 An Experimental method introduced by Harold Garfinkel in Ethnomethodology that disrupts routine
everyday life and questions the normative order is called as

2. Masking
3. Breaching
4. Staging
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897054
Option 1 ID : 42558927432
Option 2 ID : 42558927433
Option 3 ID : 42558927434
Option 4 ID : 42558927435
Status : Answered
Chosen Option: 1
Q.139  Which of the following sociologist developed his theory on the idea of networks and flows?
- 1Y Frank Webster
2. Pierre Bourdieu
B Manuel Castells
4. Clifford Geertz
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897068
Option 11D : 42558927488
Option 2 ID : 42558927489
Option 3 ID : 42558927490
Option 4 ID : 42558927491
Status : Answered
Chosen Option: 3
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Q140 Arrange the following works of Jurgen Habermas in chronological order.
A. Legitimation Crisis
B. Knowledge and Interest
C.  Theory of Communicative Action
D.  Communication and Evolution of Society
Choose the correct answer from the options given below:

1. B,CDA
2. D,AB,C
3. B,A DC
4, C,DAB
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897085
Option 11D : 42558927556
Option 2 ID : 42558927557
Option 31D : 42558927558
Option 4 ID : 42558927559
Status : Answered
Chosen Option: 1
Comprehension:
Read the following passage and answer the guestions :
‘Modernity is a risk culture. | do not mean by this that social life is inherently more risky than it used to be;
for most people that is not the case. Rather, the concept of risk becomes fundamental to the way both lay actors
and technical specialists organize the social world. Modernity reduces the overall riskiness of certain areas and
modes of life, yet at the same time introduces new risk parameters largely or completely unknown to previous
eras... Modernity is a runaway engine of enormous power which, collectively as human beings, we can drive to
some extent but which also threatens to rush out of our control and which could rend itself asunder. The juggernaut
crushes those who resist it, and while it sometimes seems to have a steady path, there are times when it veers
away erratically in directions we cannot foresee. The ride is by no means wholly unpleasant or unrewarding; it can
often be exhilarating and charged with hopeful anticipation. But, so long as the institutions of modernity endure,
we shall never be able to control completely either the path or the pace of the journey. In turn, we shall never able
to feel entirely secure, because the terrain across which it runs is fraught with risks of high consequence’.
SubQuestion No : 141
.141 4 b
@141 Journey of Modernity is )
1. Completely pleasant
2. Wholly unpleasant
2. It is by no means wholly unpleasant or unrewarding
4, Static
5. Completely controllable
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897130
Option 11D : 42558927732
Option 2 ID : 42558927733
Option 3 ID : 42558927734
Option 4 ID : 42558927735
Status : Answered
Chosen Option: 3
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Comprehension:

Read the following passage and answer the questions :

‘Modernity is a risk culture. | do not mean by this that social life is inherently more risky than it used to be;
for most people that is not the case. Rather, the concept of risk becomes fundamental to the way both lay actors
and technical specialists organize the social world. Modernity reduces the overall riskiness of certain areas and
modes of life, yet at the same time introduces new risk parameters largely or completely unknown to previous
eras... Modernity is a runaway engine of enormous power which, collectively as human beings, we can drive to
some extent but which also threatens to rush out of our control and which could rend itself asunder. The juggernaut
crushes those who resist it, and while it sometimes seems to have a steady path, there are times when it veers
away erratically in directions we cannot foresee. The ride is by no means wholly unpleasant or unrewarding; it can
often be exhilarating and charged with hopeful anticipation. But, so long as the institutions of modernity endure,
we shall never be able to control completely either the path or the pace of the journey. In turn, we shall never able
to feel entirely secure, because the terrain across which it runs is fraught with risks of high consequence’.

SubQuestion No : 142

Q.142 \What has become essential to both commoners and experts to organize their social world?
1.  Technology

2. Expertise
3. Idea of Risk
4 Profit
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897127
Option 1 ID : 42558927720
Option 2 ID : 42558927721
Option 3 ID : 42558927722
Option 4 ID : 42558927723
Status : Answered
Chosen Option: 3
Comprehension:
Read the following passage and answer the questions :
‘Modernity is a risk culture. | do not mean by this that social life is inherently more risky than it used to be;
for most people that is not the case. Rather, the concept of risk becomes fundamental to the way both lay actors
and technical specialists organize the social world. Modernity reduces the overall riskiness of certain areas and
modes of life, yet at the same time introduces new risk parameters largely or completely unknown to previous
eras... Modernity is a runaway engine of enormous power which, collectively as human beings, we can drive to
some extent but which also threatens to rush out of our control and which could rend itself asunder. The juggernaut
crushes those who resist it, and while it sometimes seems to have a steady path, there are times when it veers
away erratically in directions we cannot foresee. The ride is by no means wholly unpleasant or unrewarding; it can
often be exhilarating and charged with hopeful anticipation. But, so long as the institutions of modernity endure,
we shall never be able to control completely either the path or the pace of the journey. In turn, we shall never able
to feel entirely secure, because the terrain across which it runs is fraught with risks of high consequence’.
SubQuestion No : 143
Q.143 . .
For the author, modernity is :
1 Risk culture
2, Static
3. Negative
4. Circular
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 4255897126
Option 11D : 42558927716
Option 2 ID : 42558927717
Option 3 ID : 42558927718
Option 4 ID : 42558927719
Status : Answered
Chosen Option : 1
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Comprehension:

Read the following passage and answer the questions :

‘Modernity is a risk culture. | do not mean by this that social life is inherently more risky than it used to be;
for most people that is not the case. Rather, the concept of risk becomes fundamental to the way both lay actors
and technical specialists organize the social world. Modernity reduces the overall riskiness of certain areas and
modes of life, yet at the same time introduces new risk parameters largely or completely unknown to previous
eras... Modernity is a runaway engine of enormous power which, collectively as human beings, we can drive to
some extent but which also threatens to rush out of our control and which could rend itself asunder. The juggernaut
crushes those who resist it, and while it sometimes seems to have a steady path, there are times when it veers
away erratically in directions we cannot foresee. The ride is by no means wholly unpleasant or unrewarding; it can
often be exhilarating and charged with hopeful anticipation. But, so long as the institutions of modernity endure,
we shall never be able to control completely either the path or the pace of the journey. In turn, we shall never able
to feel entirely secure, because the terrain across which it runs is fraught with risks of high consequence’.

SubQuestion No : 144

@14 Modernity is called as :

1. Eternal
2 Juggernaut

3. Static

4. Journey of certainty

Options 1. 1

Question Type : MCQ
Question ID : 4255897129
Option 1 ID : 42558927728
Option 2 ID : 42558927729
Option 3 ID : 42558927730
Option 4 ID : 42558927731

Status : Answered

Chosen Option : 2
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Comprehension:

Read the following passage and answer the questions :

‘Modernity is a risk culture. | do not mean by this that social life is inherently more risky than it used to be;
for most people that is not the case. Rather, the concept of risk becomes fundamental to the way both lay actors
and technical specialists organize the social world. Modernity reduces the overall riskiness of certain areas and
modes of life, yet at the same time introduces new risk parameters largely or completely unknown to previous
eras... Modernity is a runaway engine of enormous power which, collectively as human beings, we can drive to
some extent but which also threatens to rush out of our control and which could rend itself asunder. The juggernaut
crushes those who resist it, and while it sometimes seems to have a steady path, there are times when it veers
away erratically in directions we cannot foresee. The ride is by no means wholly unpleasant or unrewarding; it can
often be exhilarating and charged with hopeful anticipation. But, so long as the institutions of modernity endure,
we shall never be able to control completely either the path or the pace of the journey. In turn, we shall never able
to feel entirely secure, because the terrain across which it runs is fraught with risks of high consequence’.

SubQuestion No : 145
Q.145 Modernity is uncertainasit:

A.  Reduces the overall riskiness of certain areas and modes of life, yet at the same time introduces new
risk parameters largely
B. It is completely unknown to previous eras

&l Modernity is a runaway engine of enormous power which, we can drive to some extent but also
threatens to rush out of our control

D.  Therideis not a wholly unpleasant or unrewarding;

But, so long as the institutions of modernity endure, we can control completely either the path or the

pace of the journey

Chose the correct Answer from the options given below:

1. A,C, D, Eonly

2 A, B, C Donly

3. A, B, D, Eonly

4, B, C, D, Eonly

m.

Options 1. 1

2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status:

Chosen Option :

MCQ
4255897128
42558927724
42558927725
42558927726
42558927727
Answered

2
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Comprehension:

Read the following passage and answer the questions :

“One day in 1867, a farm-hand from the village of Lapcourt . . . obtained a few caresses from a little girl, just
as he had done before and seen done by the village urchins around him . . . So he was pointed out by the girl's
family to the mayor of the village, reported by the mayor to the gendarmes, led by the gendarmes to the judge,
who indicted him and turned him over first to a doctor, then to two other experts who not only wrote their report
but also had it published. What is the significant thing about this story? The pettiness of it all; the fact that this
everyday occurrence in the life of village sexuality, these inconsequential bucolic pleasures, could become, from a
certain time, the object not only of a collective intolerance but of a judicial action, a medical intervention, a careful
clinical examination, and an entire theoretical elaboration. The thing to note is that they went so far as to measure
the brainpan, study facial bone structure, and inspect for possible signs of degenerescence the anatomy of this
personage who up to that moment had been an integral part of village life; that they made him talk; that they
questioned him concerning his thoughts, inclinations, habits, sensations, and opinions. And then, acquitting him of
any crime, they decided finally to make him into a pure object of medicine and knowledge — an object to be shut
away till the end of his life in the hospital at Maréville, but also one to be made known to the world of learning
through a detailed analysis.”

SubQuestion No : 146

Q.146 The passage suggests that modernity is represented by certain features laid out below.
A.  Control of Sexuality
B.  Science and Technology
C.  Self-Policing
D.  Self-Confessions
Chose the correct Answer from the options given below:
1. A,BandC

2. B,Cand D

3. A,CandD

4 A,Band D
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 4255897136
Option 1 ID : 42558927752
Option 2 ID : 42558927753
Option 3 ID : 42558927754
Option 4 ID : 42558927755

Status : Answered

Chosen Option : 3
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Comprehension:

Read the following passage and answer the questions :

“One day in 1867, a farm-hand from the village of Lapcourt . . . obtained a few caresses from a little girl, just
as he had done before and seen done by the village urchins around him . . . So he was pointed out by the girl's
family to the mayor of the village, reported by the mayor to the gendarmes, led by the gendarmes to the judge,
who indicted him and turned him over first to a doctor, then to two other experts who not only wrote their report
but also had it published. What is the significant thing about this story? The pettiness of it all; the fact that this
everyday occurrence in the life of village sexuality, these inconsequential bucolic pleasures, could become, from a
certain time, the object not only of a collective intolerance but of a judicial action, a medical intervention, a careful
clinical examination, and an entire theoretical elaboration. The thing to note is that they went so far as to measure
the brainpan, study facial bone structure, and inspect for possible signs of degenerescence the anatomy of this
personage who up to that moment had been an integral part of village life; that they made him talk; that they
questioned him concerning his thoughts, inclinations, habits, sensations, and opinions. And then, acquitting him of
any crime, they decided finally to make him into a pure object of medicine and knowledge — an object to be shut
away till the end of his life in the hospital at Maréville, but also one to be made known to the world of learning
through a detailed analysis.”

SubQuestion No : 147

Q.147 What does ‘And then, acquitting him of any crime, they decided finally to make him into a pure object of
medicine and knowledge’ this statement in the paragraph refersto:
Al Objectification of the body.
B. Medicalization of the body.
G Politicization of the body.
D. De-objectifying the body.
Chose the correct Answer from the options given below:

1. A,Band C
z. A, CandD
3 A,BandD
4. Aand B only

Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
4255897134
42558927744
42558927745
42558927746
42558927747
Answered

4



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON

Google Play

Comprehension:

Read the following passage and answer the questions :

“One day in 1867, a farm-hand from the village of Lapcourt . . . obtained a few caresses from a little girl, just
as he had done before and seen done by the village urchins around him . . . So he was pointed out by the girl's
family to the mayor of the village, reported by the mayor to the gendarmes, led by the gendarmes to the judge,
who indicted him and turned him over first to a doctor, then to two other experts who not only wrote their report
but also had it published. What is the significant thing about this story? The pettiness of it all; the fact that this
everyday occurrence in the life of village sexuality, these inconsequential bucolic pleasures, could become, from a
certain time, the object not only of a collective intolerance but of a judicial action, a medical intervention, a careful
clinical examination, and an entire theoretical elaboration. The thing to note is that they went so far as to measure
the brainpan, study facial bone structure, and inspect for possible signs of degenerescence the anatomy of this
personage who up to that moment had been an integral part of village life; that they made him talk; that they
questioned him concerning his thoughts, inclinations, habits, sensations, and opinions. And then, acquitting him of
any crime, they decided finally to make him into a pure object of medicine and knowledge — an object to be shut
away till the end of his life in the hospital at Maréville, but also one to be made known to the world of learning
through a detailed analysis.”

SubQuestion No : 148

Q.148 According to the scholar, the incident demonstrates that society was more focused on which of the following
aspects given below.
A. Biopolitics

B. Knowledge and Power

(5] Bureaucracy

D.  Sexuality

Chose the correct Answer from the options given below:
1. A,BandC

2. A,CandD

3 B,CandD

4. C,BandD

Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
4255897133
42558927740
42558927741
42558927742
42558927743
Answered

3
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Comprehension:

Read the following passage and answer the questions :

“One day in 1867, a farm-hand from the village of Lapcourt . . . obtained a few caresses from a little girl, just
as he had done before and seen done by the village urchins around him . . . So he was pointed out by the girl's
family to the mayor of the village, reported by the mayor to the gendarmes, led by the gendarmes to the judge,
who indicted him and turned him over first to a doctor, then to two other experts who not only wrote their report
but also had it published. What is the significant thing about this story? The pettiness of it all; the fact that this
everyday occurrence in the life of village sexuality, these inconsequential bucolic pleasures, could become, from a
certain time, the object not only of a collective intolerance but of a judicial action, a medical intervention, a careful
clinical examination, and an entire theoretical elaboration. The thing to note is that they went so far as to measure
the brainpan, study facial bone structure, and inspect for possible signs of degenerescence the anatomy of this
personage who up to that moment had been an integral part of village life; that they made him talk; that they
questioned him concerning his thoughts, inclinations, habits, sensations, and opinions. And then, acquitting him of
any crime, they decided finally to make him into a pure object of medicine and knowledge — an object to be shut
away till the end of his life in the hospital at Maréville, but also one to be made known to the world of learning
through a detailed analysis.”

SubQuestion No : 149

1% What is implied by the scholar through this passage?

A.  Absoluteness of truth

B. Public Gaze

C.  Normal and abnormal

D. Regime of truth

Chose the correct Answer from the options given below:
1. A,BandC

Z, A,Band D

3. B,CandD

4, A,Band D
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 4255897135
Option 1 ID : 42558927748
Option 2 ID : 42558927749
Option 3 1D : 42558927750
Option 4 ID : 42558927751

Status : Answered

Chosen Option: 1
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Comprehension:

Read the following passage and answer the questions :

“One day in 1867, a farm-hand from the village of Lapcourt . . . obtained a few caresses from a little girl, just
as he had done before and seen done by the village urchins around him . . . So he was pointed out by the girl's
family to the mayor of the village, reported by the mayor to the gendarmes, led by the gendarmes to the judge,
who indicted him and turned him over first to a doctor, then to two other experts who not only wrote their report
but also had it published. What is the significant thing about this story? The pettiness of it all; the fact that this
everyday occurrence in the life of village sexuality, these inconsequential bucolic pleasures, could become, from a
certain time, the object not only of a collective intolerance but of a judicial action, a medical intervention, a careful
clinical examination, and an entire theoretical elaboration. The thing to note is that they went so far as to measure
the brainpan, study facial bone structure, and inspect for possible signs of degenerescence the anatomy of this
personage who up to that moment had been an integral part of village life; that they made him talk; that they
questioned him concerning his thoughts, inclinations, habits, sensations, and opinions. And then, acquitting him of
any crime, they decided finally to make him into a pure object of medicine and knowledge — an object to be shut
away till the end of his life in the hospital at Maréville, but also one to be made known to the world of learning
through a detailed analysis.”

SubQuestion No : 150

Q.150 Thijs paragraph explores the theoretical conceptualization of the following scholar.
1. Anthony Giddens
2. Zygmunt Bauman
3. Michel Foucault
4. Pierre Bourdieu
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 4255897132
Option 1 ID : 42558927736
Option 2 ID : 42558927737
Option 3 ID : 42558927738
Option 4 ID : 42558927739

Status : Answered

Chosen Option : 1
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